
Quiz 8.3 miting and Excess Reagents
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SHOW ALL WORK. Use dimensional analysis, show all units being cancelled and solve answer with

each given reactant. Ij
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(c) Calculate the GRAMS of excess reagent remaining
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Quiz 8.3 Lilniting and Excess Reagents
Period l5+

SHOW ALL WORK. Use dimensional analysis, show all units being cancelled and solve answer with Fz
correct units. DO NOT WORRY ABOUT SIGNIFICANT FIGURES. ?
(a) Calculate the theoretical yield of GRAMS of product formed from each given reactant.
(b) Determine the limiting reagent and excess reagent
(c) Calculate the GRAMS of excess reagent remaining

1. 2Hz+ Oz --+ 2H2O 10.0 nol Hz & 10.0 g Oz
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2. Nz + 3 Hz--> 2 NIL 10.0 mol Nz and 10.0 g Hz
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